


















ATS1?<CR> 

A/ 

AT &C1 &D2 +FCLASS=? <CR> 

AT &C1 &D2 +FCLASS=?; S0=1 <CR> 

OK 

ERROR 

CONNECT 28800 

0 
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●

●

ATS0=2

ATS0?

ATS0=

AT?

Echo, Numeric (E1, V0) AT<CR> AT<CR>0<CR>

ATS0?<CR> ATS0?<CR>000<CR><LF>0<CR>

Echo, Text (E1, V1) AT<CR> AT<CR><CR><LF> OK<CR><LF>

ATS0?<CR> ATS0?<CR><CR><LF>000<CR><LF><CR>

<LF>OK<CR><LF>

No Echo, Numeric (E0, V0) AT<CR> 0<CR>

ATS0?<CR> 000<CR><LF>0<CR>

No Echo, Text (E0, V1) AT<CR> <CR><LF>OK<CR><LF>

ATS0?<CR> <CR><LF>000<CR><LF><CR><LF>OK

<CR><LF>



1. ATW0

CONNECT 115200 

2. ATW2 

CONNECT 33600 

3. ATW3 

CONNECT 115200/V34/LAPM/V42B/TX=33600/RX=33600 

ATZ

AT&F S0=1 &W1 
&Y1



AT&Z2 = T9,
(408)444-5555

ATI1

CD02.07-MM02.02



ATD T9,444-5555

modem 1: ATD;
modem 2: ATA

AT-C1DT 123

1 second +++ 
1 second

+++AT<CR>

ATO



AT<CR> OK



+MS = V22, 1, 1200, 1200; B0 



1. ATS37 = 0      2. AT+MS = V32B, 1, 0, 14400

AT+MS = V32B, 1, 0, 14400 ATS37 = 0

ATDT1234 ATDT1234

CONNECT 14400 CONNECT 9600



AT S18 = 0 &T1 Causes the modem to run local analog loopback without self-
test. 

CONNECT 115200 Modem response code indicates that analog loopback is 
enabled with a DTE speed of 115200. 

This is a test. Test string that the user could type at the keyboard. If
the received data is the same as the test string, then the
DTE-to-modem communication channel is working properly. 

+++ Hayes Escape Sequence is used to return to command mode.

OK Modem enters command mode. 

AT&T0 Terminates any loopback test. 

OK Modem aborts analog loopback and stays in command mode. 



1. AT S18=20 &T8 Causes the modem to start local analog loopback with self-
test for 20 seconds. 

OK After starting analog loopback, the modem goes back to com-
mand mode. 

AT The modem responds to new commands.
OK

000 After 20 seconds, the modem stops analog loopback, sends
OK an error count to the DTE, and enters command mode. 

2. AT S18=0 &T8 Causes the modem to start local analog loopback with self-
test, which is only terminated by AT&T0 or ATH. 

OK After starting analog loopback, the modem goes back to com-
mand mode. 

AT The modem responds to new commands.
OK 

AT&T0 After receiving AT&T0 or ATH, the modem stops analog 
000 loopback, sends an error count to the DTE, and enters
OK command mode. 



AT&T4 Remote modem is now configured to grant RDL.
OK 

ATDT<remote phone number> Establish a data mode connection with 
CONNECT remote modem.

+++ Go to online command mode.
OK 

AT&T6 Initiate remote digital loopback.
CONNECT 

This is a test Test string that a user could type at the keyboard. If 
received data is the same as the test string, then the 
telephone line communication channel is working 
properly.

+++ Go to command mode.
OK 

AT&T0 Terminate loopback test and remain connected to 
OK remote modem (local modem stays in online 

command mode).

ATH Disconnect call.
OK 



AT&T4 Remote modem is now configured to grant RDL.
OK 

1. AT S18=0 Change to direct mode and set test timer to zero.
OK

ATDT<remote phone number> Establish a data mode connection with remote modem.
CONNECT

+++ Go to online command mode.
OK 

AT&T7 Initiate remote digital loopback with self-test.
OK 

AT&T0 After a user-selectable time, abort loopback test.The
OK local modem remains connected to remote modem (local 

modem stays in online command mode).

ATH Disconnect call.
OK 

2. AT S18=20 Sets test timer to terminate loopback test after 
OK 20 seconds.

ATDT<remote phone number> Establish a data mode connection with remote modem.
CONNECT

+++ Go to online command mode.
OK 

AT&T7 Initiate remote digital loopback with self-test.
OK 



AT Even though in a test mode, the modem responds to
OK new commands.

000 After 20 seconds, the modem aborts the remote loopback,
OK sends an error count to the DTE and then enters online

command mode.

ATH Disconnect call.
OK 



DTE: 1 second +++ 1 second

DCE: OK 



DTE: +++ AT<CR>

DCE: OK 









ATI1 
CD04.08 - MM03.XX 
OK

ATI2
OK

ATI3
CL-MD56XX
OK

ATI5
HOST I/F: Parallel
P Mem: 016 Bit 001 W.S.
D Mem: 008 Bit 001 W.S.
DSP Code location = External RAM 





CONNECT 115200/V34/LAPM/V42B/TX=28800/RX=28000

PROTOCOL: LAPM
COMPRESSION: V42B
CONNECT 33,600









B1 E1 L2 M1 N1 P Q0 V1 W3 X4 Y0 &C1 &D2 &G0 &J0 &P0 &Q0 &S0 &U0 &Y0 

%A013 %C1 %E1 %G1 \A3 \C0 \G0 \J0 \K5 \N3 \Q3 \T000 \X0 -C1 -J1 "H3 "O032 

S00:001 S01:000 S02:043 S03:013 S04:010 S05:008 S06:002 S07:060 S08:002
S09:006 S10:014 S11:070 S12:050 S18:000 S25:005 S30:000 S33:010 S37:000 

B1 E1 L2 M1 N1 P Q0 V1 W3 X4 Y0 &C1 &D2 &G0 &J0 &P0 &Q0 &S0 &U0 

%A013 %C1 %E1 %G1 \A3 \C0 \G0 \J0 \K5 \N3 \Q3 \T000 \X0 -C1 -J1 "H3 "O032 

S00:001 S02:043 S06:002 S07:060 S08:002 S09:006 S10:014 

S11:070 S12:050 S18:000 S25:005 S30:000 S33:000 S37:000 

&Z0= 12345

&Z1= T4444444 

&Z2= T12345

&Z3= T11234567890 

OK 





AT+GMI?
CIRRUS LOGIC
OK

AT+GMM?
CL-MD56XX
OK

AT+GMR?
CD 2.07—MM 02.02
OK



+MS = V22, 1, 1200, 1200; B0 

AT+MS?





+MS = V32B, 1, 9600, 14400 9600–14400 

+MS = V34, 1, 0, 0 300–28800 

+MS = V34, 1, 300, 28800 300–28800

+MS = V34, 1, 9600, 28800 9600–28800

+MS = V34, 1, 28800, 28800 28800 only

+MS = V34, 0, 19200, 26400 19200–26400 

+MS = V32, 1, 0, 0 300–9600

+MS = V32, 0, 0, 0 4800–9600

+MS = VX2, 1, 0, 0

+MS = V32B, 1, 9600, 14400 9600–14400 

+MS = V34, 1, 0, 0 300–2400 

+MS = V34, 1, 300, 28800 300–28800 

+MS = V34, 1, 9600, 28800 9600–28800 

+MS = V34, 1, 28800, 28800 28800 only 

+MS = V34, 0, 0, 0 2400 only 

+MS = V34, 0, 19200, 26400 19200–26400 

+MS = V32, 0, 0, 0 NO CARRIER









V.42 bis with fallback to MNP5, &F \N3 \N3 "H3 %C1
MNP2–4 or V.42:

V.42 bis with fallback to V.42/MNP2–4: &F \N4 %C0 \N4 %C0 "H3 -J1

V.42 bis only: &F \N4 -J0 \N4 -J0 "H3

V.42 only: &F \N4 -J0 "H0 \N4 -J0 "H0

MNP5 with fallback to MNP2–4: &F \N2 \N2 %C1

MNP2–4 only: &F \N2 %C0 \N2 %C0













AT+FMFR?
CIRRUS LOGIC

OK

AT+FMDL?
CL-MD56XX

OK

AT+FREV?
CD02.07–MM02.02 

OK 

+F<command>?  Reads current setting 

+F<command> = ?  Reads permissible settings 

+F<command> = <parameter>  Sets parameters



<DLE>

any data ... <DLE><ETX> end of data stream

any data ... <DLE><DLE> single $10 in data stream

any data ... <DLE>

<not DLE or ETX> delete both <DLE> and next character

<DLE> <DLE>
<DLE><ETX>

<DLE><ETX>



<DLE> <DLE><ETX>
<DLE><DLE> <DLE>





<DLE><ETX> 



<DLE><ETX>



<DLE><ETX>

<DLE><ETX>



<DLE><ETX>





 Read current setting

 Read permissible settings

 Set parameter

<DLE>

any data ... <DLE><ETX> end of data stream ($10 $03)

any data ... <DLE><DLE> single $10 in data stream

any data ... <DLE><X> X is a special character (Table 6-2), 
delete both <DLE> and X from 
the data stream 





<DLE> <DLE>
<DLE><ETX>

<DLE><ETX>

<DLE><CAN><DLE><ETX>

<DLE> <DLE><ETX>
<DLE><DLE> <DLE>

<DLE><DTMF CHAR>
<DLE>

<DLE><~>

<DLE><5><DLE><~> 

<DLE></>
<DLE><DTMF CHAR> <DLE><~>

[voice data]<DLE></><DLE><5>[voice data]<DLE><~>[voice data] 

[voice data]<DLE></><DLE><5>[voice data]<DLE><5>[voice data]<DLE><~>[voice data] 



: All

: +FCLASS



<DCI> <DC3>



<DLE><q>







AT+VEM=BB863EE0 

AT+VEM? 

BB863EE0 

OK

AT+VEM=?

‘C’ Feature Class 

DB860980  Playback mode events 

OFEE0883  Record mode events 

BB863EE0  Command mode events 

OK 

 :





<DLE><NUL>





<DLE><O>

<DLE>

<DLE><NUL>

<DLE>

<DLE><ESC>

<DLE><ETX>



<DLE><!>
<DLE><!>

<DLE><ETX>

<DLE><NUL>

<DLE><q>
<DLE><q> <DLE><s>

<DLE><q> <DLE><q>

<DLE><q>
<DLE><q>







<DLE><!>

<DLE><NUL>



AT+VTS=<DTMF or !> 

AT+VTS=1

AT+VTS=[<first tone freq 1>, <second tone freq 2>, 
<duration>]

AT+VTS=[<first tone freq 1>]

AT+VTS=[<first tone freq 1>, <space>, <duration>] 

 AT+VTS=[3000] 

AT+VTS=[3000,,50]

AT+VTS=[<first tone freq 1>,<second tone freq 2>]

AT+VTS=[<first tone freq 1>,<second tone freq 2>, 
<duration>] 

AT+VTS=[3000,3300]

: AT+VTS=[3000,3300,50]



AT+VTS=[ , ,<duration>]
AT+VTS=[ ]

AT+VTS=[ , ,50]

AT+VTS={<DTMF or !>,<duration>} 

 AT+VTS={2,30}

AT+VTS={!,50}
.

AT+VTS={!,30}, 1, 2, [1000,1300,50], !, {*,6}, [1000], 9 

AT+VTS=1, [, ,50], 2, [ ], 9 



<DLE><ETX> <DLE><ETX>

<DLE><CAN><DLE><ETX>

<DLE><NUL>



















✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔

✔

✔

✔ ✔

✔ ✔



✔ ✔

✔

✔ ✔

✔

✔ ✔

✔ ✔

✔ ✔

✔ ✔































!P = 250, 0, 125, 1 
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RING

DATE = 0321

TIME = 1405

NMBR = 5045551234

NAME = DOE JOHN

MESG = 060342424231

RING

RING

<DLE> R

<DLE> X

DATE = 0321

TIME = 1405

NMBR = 5045551234

NAME = DOE JOHN

MESG = 060342424231

<DLE> .

<DLE> R

<DLE> R

RING

MESG = 060342424231

RING

RING

RING

MESG = 04123033323131334303539313435353132333435

RING

RING










